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What is a rational

number? DON'T YOU THINK YOU 6LYS SHOULD STOP

FIGHTING? YOU'RE BOTH BEING IRRATIONAL.
Any number that can be

written in the form mMm_
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When you draw a number line, make sure the tick marks are evenly
spaced!
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Label the number line below using integers:
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Label the number line below using fractions: # ) ‘Pour ths
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Place value:

Hundreds tens ones decimal tenths hundredth thousandths
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To get equivalent fractions:
Multiply the numerator and dencminator by the SAME number, e.g., 2.
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Common Fractions: 1=03 » 3
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Finding a number between “close fractions” like 2 and =:

A strategy is to find equivalent fractions for each, and then find a fraction in
between. c
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Ex. 1: Put these on a number line: 0.8, 0.8, -0.5, -0.57
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Ex. 2: Find 3 rational numbers between each pair of numbers:
a) 2.65 and -3.24 o E— A A B B
-3, ~71 -y -2 - o 2 3
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Ex. 3: Graph the following rational numbers on the number line.
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Assignment:

Sec 3.1, p.101: S%  8ad, 9 ad, 10abc, 12acg

Fx 1dac, 16 , 23bcd, 24bc,
14h, 22
Yoo
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